SuMPO SuMPO EPD
VEPD s 7ummss (erp)

Z5&ES © JR-BO-24011E-C

# NIPPON STEEL
BAmskE

SUMPOIRIESANILTOI S n
—MAEEIEAY AT H IR EHEE S
RRBFAERAHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

ATULREWR/J\WERIEHM
(FxIA LR TILTUOYALR)

Stainless Steel Sheet/Yawata cold rolled sheet

BEHENL
1t
BEM SRR
(I E=#&E4 m RS

BNEEPE (FAMRERE. RATRIOELX, RmORIE)

KmOB X, TELR-FEx
SLEYA b 1 UINBLERFR

FERMUE  JIS (BARESFRMB) . ASTM, ASME
BHARRGRUE M@ RE(CEE

TR« S, AR

FLIRE (BEfImm., t =tRE) t=0.3~2.5

FULWahik

EBRES JR-BO-24011E-C

EAPCRES PA-187000-BO-03

PCR#% ATYLASE (b)) [535R]
NI 2025438 19H

REEETEH 2025438108

REEAR B S BIREE A =

RAES JV-BO-24011

IRALAHAR  20303A9H

PCRLE1-DEE
REBSE 202342848
ZER LE ®

— M EIEAY AT T IR HEE RS
E=ERIE*
AERREER
ISO1402585&U1S021930( > ARE & RUT -5 DIRIILE
HREE

BiE

OA#EB W AR

*YAT LRI EZ B EANOREEDIHEE, VAT LRI EIT>REEED
ZEEHE.

HARBHRA ST AT L AFIME A7 L AEEE

https://www.nipponsteel.com/

Z5&ES © JR-BO-24011E-C


https://www.nipponsteel.com/

SuMPO

EPD

AAAAA

VERIFIED

SuMPO EPD
1T NREE

(=]

(EPD)

Z#HES ¢ JR-BO-24011E-C

OF17Y1 )V REEF TSR

SUMPOEBRIEININTOIT A
— A EIEAY AT F IR S A
ERETREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 5500 | kg-CO2eq
[7ye(e 40| kg-SO.eq
HAFEAFIIVE 0.044 | kg-CzHaeq
AT 3PN-RYIybTUVFOREICEIL T w (A1) EHHIEE w2 EHEOHE  #(A3] REORE
[(®-1.20M0REEERR EX TSRO,
=H IEH Bif a3 (A1) BEHRERE | (A2] RO | [A3] HEORE
SURZE) IPCC 2013 GWP 100a| kg-COzeq | 55E+03 || 3.3E+03 | 4.6E+01 2.1E+03
AV EBRRIE kg-CFC-11eq| 5.5E-05 2.4E-06 3.1E-10 5.3E-05
7424 kg-SO.eq | 4.0E+00 3.0E+00 6.1E-02 8.9E-01
HALFZAF IV kg-CoHseq | 4.4E-02 2.7E-02 5.8E-04 1.7E-02
EXREL kg-PO.*eq| 4.2E-02 2.7E-05 2.8E-13 4.2E-02
@) = © v BE(CB8d 34
IEH B “H-9E (ERES) Bifif
FEBEAEER 8.1E+02 kg &% [C] =05 %
FEFERREIRILF- 6.9E+04 MJ T4 % [Si] =30 %
BEMREER 1.6E+03 kg YYHAY [Mn] =20 %
BEATREIRILF- 2.1E+03 MJ U [P] =0.15 %
HKIKDBEE 5.4E+01 m? B [S] =0.03 %
Z94)b [Ni] =25 %
)% B [55 £h 20L [Cr] =31 %
IHE -2 TUITY [Mo] =40 %
BEREY 0.0E+00 kg $f [Cu] =20 %
mERZEY 4.4E+00 kg Z#7 [Nb] =1.0 %
HIATHINCBI BEENBERLTNET, FIY [T =1.0 %
TIVIZUL AN =6.0 %
AR [Sn] =1.0 %
- E%[N] =0.1 %
2 [Fe] =65 %




SuMPO EPD SUMPORIESNILTOIS A

SRS _ — I EIE A Y AT H IR R

o ..E PD 1T NEBEESE (EPD) ERABTREXAHET-14-8
VERIFIED KANDA SQUARE GATE
BiES ¢ JR-BO-24011E-C https://ecoleaf-label jp

OBEERRCEIT ZEMIER

NEROENX Y FUAIPCRICHE STz, TIHMENE(E X REEE XY I CEHAIL TRV,

QARY—h L, OMRRUYMEICEIT A COV T, SEUMNIHREBZIMMREREDE LIREDIS. ZRADEDERT, #%
DR L DR DR THEIND,

)—RT-FF 2022 FEOEEBEEEALL, BAREMEIEN, —REXFEE 104, 2014FE |2ERALLE,

©-1.ZDMDIRFEEIE ISR

ISO1400158E LI CHLEL TS,
[SUEZB) IPCC2013 GWP100al [CBI9 255 % ¢
AEROBAED, ZOEBOAT-T3H7IU- 1 OGHGEIHEZEFEI2H 4P, AEREZANTRIE TR RON-RY TV
YMEEESBHEICIE U TOURLELTHERTEIL,
https://www.nipponsteel.com/product/cfp/certificate.html
(EZRURLOAA(E, EPDORREET S )

IEH CAS No. ENE
NVAY 7439-96-5 FHEREHEEETS
$ 7440-50-8 FEREEEEETS
704 7440-47-3 FHEREHEEETS
vl 7440-02-0 HEREEEEETS

@DERLEZRT-90EZX A
IDEA v2.1.3 ZfEFLT,

®fE5

OJISHIE IS G 4304 (BAFEZEAT VLA KU E) IS G 4305 (RMEEZERTYLAMR R UHT)

OASTM A240/A240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate, Sheet, and Strip
for

Pressure Vessels and for General Applications)

OASME BPVC. Il .A SA-240/SA-240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate,
Sheet,

and Strip for Pressure Vessels and for General Applications)

OBABEKRIE : BIERATYVAERR. BIERT YL AER R

-2025FF48 HABEE[CHVWEETM N ERRBEEIELE,

‘2025F 118 MWEDLEE, BEHREEL.

-2026F4 A1B[®-1.20MOREEEIER | (LA HATER

@7 -YHEENAHK. PCRELVETE - EEMRBELSRBL LI,
OLLRIIDVTE, EE - EEREICHREINLEZHFER/LEEEICLIRDONE A
(BHEJURL : https://ecoleaf-label jp/regulation/)
EixEFS © JR-BO-24011E-C



